Q.1  Write

equations in the Standard form and point

the  following  quadratic

out pure quadratic equations.
(1) X+7)Ix—-3)=-7

Solution: (x+7)(x—

X =3x+7x-21=—7
X" +4x-214+7=0
X" +4x—14=0
The standard form of quadratic equation is:
X" +4x—-14=0
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21

Solution:

=1

7x° +28—3x =21
T =348 =21 =0

7x*=3x+7=0
The standard torm ﬁm
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Solution;:
X

(x4l
X(x+1)

=6

P+ XxP+E1+2x=6X(x+1)
2x%+2x +1=6x" +6X

)= 6x" +6x—2x°—2x—1
0=4x"+4x -1

= 4x* +4x—1=0
The standard form of quadratic equation is:
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(iv) [iﬂ 2 2J+4=0
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!
Solution: (x+4}(x 'W+4=0
X=—-2 X

(X+4)x-(x-2)*+4x(x=2)
(x =2)(x)

X*+4x —[x*+27 = 2(x)(2)]+4x* -8x =0
X +dx = xXF —4+4x+4x2 -8x =0
A4X* +4x+4x-8x-4=0

4x2+‘S{-,8’f—4=0

=0

4x*-4=0
4(x* =1)=
X*=1=0 (" 420)

So, x‘=1=01s Pure Quadratic Equation

X +4 X

X(X+3)—=(x+4)(x-5)
X(x+4)

Pi?+3x—(_x3~5x+4x~20):1x{”4
x?+3x —(x* =1x—20) = x? +4x

)(’*/+3x—)({+x+20=x3+4x

3X+Xx+20=x%+4x
4x +20=x" +4x
X'+ 48 — 4 -20=0
x*=20=0
x*+0x-20=0

As, b=10

- So, x*—-20=0is Pure Quadratic Equation
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